
© 2022 RETI All Rights Reserved | P/N: 42037 | REV1: 05/20/22 
Check for parts online at www.HuntRiversEdge.com or call 800-345-6007 1

Operator’s Manual
Landmark™ Seat Addendum

Follow these instructions for your Landmark™ 10’ 600 Tower (Model LM623) seat addendum. Instructions should be 
kept in a safe place and reviewed at least annually.

TOOLS REQUIRED

- # 32563 7/16” WRENCHES 2

HARDWARE LIST

Item Part No. Description Image Qty

4 # 41983 U-BOLT
1/4 X 2 X 1-1/4 IN 2

5 # 48240B BOLT
1/4 X 1-1/2 IN 6

6 # 48752B NUT 1/4 IN 10

Item Part No. Description Qty

1 # 41981 SEAT SUPPORT 3

2 # 41982 SEAT PLATE 1

3 # 42071 BASE PLATE 1

PARTS LIST



Check for parts online at www.HuntRiversEdge.com or call 800-345-60072

Operator's Manual
Landmark™ Seat Addendum

ASSEMBLY INSTRUCTIONS FOR LM623 SEAT ADDENDUM

	 IMPORTANT ASSEMBLY TIP:
	 Do not tighten any nut and bolt combinations completely 

until instructions indicate to.  Finger tighten plus one turn of 
a wrench only!  This will temporarily hold the lock- nut on the 
bolt while helping alignment of all parts!

All assembly must be done completely in this order 
before use.

Do not remove labels/warnings from product, they are 
there for your safety.

Recommended for adult use only. 

ST
EP

 1
STEP 2

1.	 Attach the three seat supports (1) to the seat 
plate (2) and base plate (3) using six 1/4-20 X 
1-1/2 IN bolts (5) and 1/4-20 nuts (6). 
SEE FIGURE 1.

	 NOTE: STEP 2 should be completed after 
STEP 13 and before STEP 14 of the Operator’s 
Manual for the Landmark™ 10’ 600 Tower.

2.	 Secure the seat assembly onto the platform 
using two 1/4 X 2 X 1-1/4 IN U-bolts (4) and 
four 1/4-20 nuts (6). Seat should be placed at 
the bottom center of platform where the tube 
sections meet as shown. SEE FIGURE 2.

mesh hidden 
for clarity

6

1

2

5

1

5

3

4

6


